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> temp <- numeric(0) #J O OOODOOOOOO
> for (i in 1:10) {

temp <- c(temp, rep(i, 10))

}
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> rep(1:10, 10)
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> for (i in 1:n) {
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Team <- rep(c("Figthers", "Hawks", "Lions", "Marines", "Buffaloes", "Eagles"), 10)
Rank <- rep(1:6, 10)

Practice <- runif(60, 5, 8)

Benchpress <- rnorm(60, 80, 20)

Hitrate <- (Practice)/3 + rnorm(60, 0.5, 0.2)
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data <- data.frame(Team, Rank, Practice, Benchpress, Hitrate)
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> seperate <- split(data, data$Team)

> par(ask=T) #0 0000000000 0O0OOCO0OO0O

> for (i in l:nlevels(data$Team)) {
plot(seperate[[i]]1$Practice, seperate[[i]]$Hitrate)

}
par (ask=F)
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> seperate <- split(data, data$Team)

> par(mfrow=c(3, 2))

> for (i in 1l:nlevels(data$Team)) {
plot(seperate[[i]]$Practice, seperate[[i]]$Hitrate)
}
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> seperate <- split(data, data$Team)

> temp <- NULL

> for (i in 1:nlevels(data$Team)) {
temp <- rbind(temp, mean(seperate[[i]][,-1]1))
}

> temp <- as.data.frame(temp)

> result <- cbind(levels(data$Team), temp)
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> seperate <- split(data, data$Team)

> temp <- NULL

> for (i in l:nlevels(data$Team)) {
seperate[[i]1]$Dif <- max(seperatel[[il][, 5]) - seperatel[[i]l][, 5]
temp <- rbind(temp, seperate[[i]])
}

> result <- as.data.frame(temp)
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> result <- result[order(result$Rank), ]
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> ifelse(000, ODODOODOOO, DOODOOOOOO)
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> Team <- rep(c("Figthers", "Hawks", "Lions", "Marines", "Buffaloes", "Eagles"), 10)
> Benchpress <- c(rnorm(20, 80, 20), NA, rnorm(20, 80, 20), NA,rnorm(18, 80, 20))

> data <- data.frame(Team, Benchpress)

> mean(data$Benchpress)

[1] NA #NAOOODOODOOO

> data$Benchpress <- ifelse(is.na(data$Benchpress), 0, data$Benchpress) #NA [J
dodddoooooouooooobbon

> mean(data$Benchpress) #0 00000000000



